AP R RENFET 5 (RI5) B 5 B #

SF64E5H241 (&RA)
Bz ENSEHA %K 1935 b+

(% L EBEREET)
ey _ HFE R ke) 1% By ]
a—Fk A R A8 #YFE | AxEE | sk | SEE) | omm) BiEm) | sEm) | wEe)
130100(/=W 2 A biToesY 10,500
130100|7=\W 2 A FiE 2,950 0 1,950 10 2,808 2,700
130100(/=W 2 A ey = 1,000 0 950 10 2,700 2,592
130100|7=\W 2 A RI%G 3,600 0 3,600 12 1,944 1,296
130100(/=W 2 A iR 300 0 300 15 2,376
130340[%ICA CA be 14,900
13034003 ICA LA HE 8,960 0 8,960 10 2,484 1,080
130340[%ICA CA = 4,000 0 4,000 10 2,700 1,080
13034003 ICA LA Rlg 1,120 1,120 10 1,566
130400| 1% 5 be 1,319
130400| 1% 5 B 1,220 920 10 3,456 1,566
130400\ 1% 5 PN 99 99 0.15 119 65
130600({1 A Z A FiToesY 650
130600| A T A = 650 0 650 5 5,184 1,080
13110018 3% biToesY 16,250
131100|H 3% I 13,720 9,910 15 3,024 1,080
131100|83% R 1,285 1,285 10 1,134
131100({A 3% FMFRWL 1,245 1,245 15 1,620 1,080
131700(F v XV biToesY 39,860
131700(F v X/ 2 13,650 0 10,400 10 2,376 1,512
131700 v X HE 18,510 0 10,710 10 1,620 680
131700(F v X/ IR0 1,200 0 1,200 10 1,728 1,512
131800{IF > NAE biToesY 848
131800|1F 5 A E k& 492 352 140 0.2 238




131800(I1F 3 WA E =1 180 180 0.18 157

131910(F R & e 1,208

131910(Fh & PN 10 10[ 0.045 63 62
131910(F R & B[] 275 275 1 810 324
131910(Fh & ) 428 428 10 4,050 2,592
131950|H A & HE 1,266

131950(H & BSE 760 552 3 1,620 972
131950(A R & ) 426 372 3 1,512 1,458
133400(L % 2 et 18,020

133400(L % % R 15,020 0| 12,700 10 2,160 864
133400(L % 2 FE 3,000 0 3,000 10 1,944 1,188
134100|#A/1 e 16,625

134100 |#8/1 S 2,460 0 2,410 5 1,782 1,188
134100|#A/1 &) 1,425 0 1,355 5 1,944 1,188
134100 |#8/1 iR 3,645 0 3,645 5 1,890 1,188
134100 (&A1 Syl 850 0 800 5 2,052 1,296
134100 |88/ =l 6,600 0 4,695 5 1,890 1,188
134100|#A/1 BRS 565 0 565 5 1,404 1,080
134200|m I et 2,370

134200|FE /M —a1—-Y—-5vF 1,250 1,250 10 2,376 1,944
134300 (%6 7 et 6,522

134300567 = 1,032 1,032 2 1,080 540
134300 (%6 7 Syt 4,247 3,633 0.3 119 108
134300(#6F £=1iA 775 7521 0.3 167 151
134400| k< k et 4,763

134400| k= k FE 496 496 356 302
134400| k< k KRG 943 943 1,836 1,512
134400| k= b+ BE 3,274 3,274 2,160 1,188
134500| " — < > e 6,634

134500| &’ —~< >~ =40 1,494 1,125 0.15 86 76




134500 "=~ ~ = I 2,555 2,555| 0.13 86 65
135100| W A LT A ¥ 120

135100 W AT A BRS 70 70 2 1,944 1,836
135200|%= ¥ 22

135200|%= wE 2 2 1 2,052
136100(AA L & ¥ 10,475

1361001 A L & B/ 31 8,815 8,815 5 3,240 540
136100(AA L & h¥= 1,440 1,410 5 1,620 432
136200|%inE ¥ 4,910

136200(F % Rl 4,910 4,910 10 4,169 1,512
136210| X —27 4 >~ e 11,010

136210( X —7 1 ~ A 5,010 5,010 10 3,564 1,296
136210| X —27 4 >~ REA 6,000 0 10

136300|2F ¥ 170

136300| 2% BERE 140 120 1 540 324
136600|7z & ¥ 22,245

136600|7- A & BE 22,165 22,065 10 3,456 594
138100({& L W /o lF ¥ 1,024

138100|& L W7zl fig 1Ly 242 242 0.1 76 54
138100(& L W /o ld BE 782 771 0.2 248 108
138500| L& LE ¥ 1,660

138500(L® LE g 443 340 0.2 83 78
1392005 & ¥ 90

139200( 5 & ANER L 30 30 10 8,640 6,480




AP R RENFET 5 (RI5) B 5 B #

FH6FES5A248 (£ER)
LSS EFEfsE: 173

(B ILHEREST)
BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Efike) fEM) | {EFE) BER) | $EE) | REF)
240110|/\ 7RI DA |HEK 383
240110|/N7 ZHA DA AL 383 0 383 4 9,180 7,560
241260|HE # M A [y 1,450
241260|HE A H A B 850 850| 10 1,620 1,404
241260|HE # M A 22 600 600 10 2,916 2,484
242320 a+3—IL K |## 100
242320|¥ 3+ a—L K | BH 100 0 100| 10 6,480
242830|5 LW AT e 900
242830|3 LW AT EE 900 0 410 10 4,104
242850|EM Y A Z e 2,750
242850| E#k Y A Z EE 2,750 0 1,000 10 3,024
243950| b T 80
243950| U RI& 80 0 70| 0.25 486 432
246000( LB & e 1,814
246000|L\B & & 67 45 22| 0.25 410 432
24600016 & &I 252 204| 0.25 335 205
246000|L\B & f&hd 323 323 0.27 432 194
24600016 & RI& 1,172 1,148| 0.25 378 173
247100| 7 — L2 A Oy ¥ 233
2471007 — 2 40y | &M@ 233 0 233 9 11,880 4,320
247491\ 7 A » ¥ — A O ¥ 150
247491 A v — X O BE 150 0 90 5 4,104 2,484
247568|2 Hh I 4 A e 2,545
247568|2 H I XA B3 2,545 0 595 5 3,780 3,240




24830078/ ¥ 6,345
24830078 /1 EA 270 0 270 15 6,480 4,644
24830078/ REA 6,075 0 5,325 15 7,560 3,240
248800| 2 /== ToE 550
248800|Z 7= £ A/ R 550 0 520 10 5,292 3,672




